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101|R#A7 L 402 145 257| Kg |EE 1,404 324| & 1,944 540
102|357 L 4,397 4397| Kg BIE 1,566 800
111|&EEF £ 674 1 673| Kg |EE 32 FiE - BA 1,728 535
113|RAV S 2 2| Keg fE 2,160 1,729
114|B5EFE 384 384| Kg e 2,700 216
15[ 1= 2 Kg |EfE 1,620
117[1E 104 4 100| Kg |@&S 864 =35 3,780 1,404
21| bl E 51 49 2| Keg |EE 864 324| Kl 972 378
134[#= = 442 236 206| Kg |@®@# - EE 2,484 1,300| & 2,808 1,512
137|&5ES. < 16 16 Kg |x% 1,944 1,620
140(5 I 20 20| Kg FE 41,040 21,600
147|EZ O 131 131| Kg |EE 7,556 BRE - Hil 7,000 4,000
158|EIEA A LS 1,181 1,181 Kg ERE 2,160 540
201{Lvb L 718 718| Kg BE - T 486 108
203|/hd L 156 156 Kg R 378 54
205|3.3 L 112 112| Kg =0 548
206| = 1F 320 320| Kg Ex) 562 216
208| Mo % 348 348| Kg L 2,808 216
210|1F ALy 403 359 44| Kg |Ei& 4,320 1,890 £ 15 4,320 1,080
212|&5E.3Y 879 879| Kg FiE 1,998 972
251|< B %<3 136 136 Kg |[fFrL 2,819
252|L0AEECH 294 294 Ke |m7 2,603 1,080
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254|ED12ELCA 903 903| Kg 2Pl 1,998 864
305|xAah>0b 21 21 Kg RI& 3,024 1,260
3191 h o 471 48 423 Kg |=L 540 £ - fELL 1,620 548
332|117 WA EF 228 228 Kg JbF 3,024 1,944
3BlHHY 75 751 Kg =1, 7,560 3,456
3541 <Y 120 20 100 Kg |[FE 1,404 FE 2,106 1,242
3/5|HEY 225 225 Kg timE - P E 1,728 600
356|L L& 10 10| Kg SER 1,512 1,080
358|KE 25 5 20| Kg [EA 1,728 FAN 3,456 2,160
362| & 24 241 Kg BJE 756

401|H W 50 5 45 Kg |IKE 1,836 sz 2,160 1,944
4025 5 &E 15 15| Kg A0 5,292 5,184
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512| A& AL 30 30| Kg b 1,450 1,390
523| A EARAT 2 O 131 131| Kg =] 1,788 1,140
558| 20 20| Kg b 1,296 842
560|487 2 173 173| Kg =] 2,500 980
566|4R A 22 22| Kg b 3,800 2,300
5764 X 1F 231 231| Kg B - A 1,836 980
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70110 BA 293 50 243 Kg |EA 2,100 1,780| &0 1,620 1,296
71019 2 ®HA0F 22 22| Kg =l 1,512 1,215
BlBEFALANIN 45 45 Kg |B1R 739 614
755(Fd L 18 18 Kg R 710
76l|1b Y AEE 18 18 Kg FOarL 1,980
76713725 WD 208 208| Kg =1l 2,550 1,152
801|BHL =T 88 88| Kg ¥ - A 1,728 1,566
802|111 20 201 Kg 2yl 3,664 1,242
8041 x ¢ 38 381 Kg mE 1,080 576
8051 1E 272 272 Kg JbiF 783 689
810|FAKF 246 246 Kg bF 2,638 2,376
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